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2

700 nm 400 nm 1 nm
1 × 10−9 m

 γγγγγ

 

 

 
c 3 × 108 m s−1

 c
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2

3 × 108 m s−1

1. X 

(a) X 2

(b)  X 
 ·£¥ 1 4

2.

(a) 2

(b)  ·£¥ 2 3

3. 7.71

 7.71

(a) 7.71
3

(b) 2

(c)  ·£¥ 3 1

4.

(a)  ·£¥ 4 4

(b) 3
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5. 7.72 3 cm
0.9 cm

 7.72

(a)  ·£¥ 5 2

(b) 2

(c) 3 cm 2

6. 7.73

 7.73

(a) 2

(b)  (a) 
 ·£¥ 6 2

7. 7.74

 7.74

(a)  ·£¥ 7 2

(b) 2

(c) 4.3 × 1014 Hz 2
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2

× −

−

−

−

= λ

(a)

20 Hz 20 000 Hz

20 Hz

20 000 Hz

(b)

20 000 Hz

(c)

 8.3

 8.2

 8.2

 8.3
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 2

decibel ultrasonic scanning

audible sound microphone

cathode ray oscilloscope (CRO) musical note

echo noise

sound quality harmonics

pitch sonar

fundamental sound intensity level

fundamental frequency loudness

flaw threshold of hearing

ultrasound  ultrasonic wave

v = f λ

v d ∆t 

v
d

t
=

2
∆
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1.

2.

 9.23 1.2 A  8 Ω 

(a)

(b)

(c)  2 Ω 

(a)  = VXY = I R
= 1.2 × 8 = 9.6 V

(b)

⇔

 9.24(a)  9.24(b)

⇔

 9.24(c)
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2

1. (a)
2

(b)
3

(a) 1
1

(b) 1
1
1

2.

9.46

 12 V 

(a) 2

(b)
(i) 2
(ii) 3 Ω 1

(c)  4 Ω 3
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2

9.   

 10.68

MAGLEV
1900

250 300
 581 

 10.69(a)  10.69(b)

 10.69(a)

 10.69(b) 

(a) 1

(b) 2

(c)  ·£¥ 8 2
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2

−14
11.11

(a) α γ

(b) 11.12  α  4 cm

 11.12

(a) α γ
α

(b) α α

11.11

(b)

11.4
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2

X  X-ray 4, 196

 angle of incidence 9

 incident ray 9

 three-pin plug 113

 kilowatt-hour 113

 daughter nuclide 200

 neutron 210

 neutral wire 113

 medium 15

 element 211

 internal resistance 109

 decibel 71

 laminated 170

 step-up transformer 169

 reflection 9

 angle of reflection 9

 law of reflection 9

 reflected ray 9

 live wire 113

 principal focus 28

 principal axis 28

 turns ratio 169

 half-life 200

 visible light 4

 audible sound 66

 right-hand grip rule 154

 mains supply 113

 plane mirror 10

 Fleming’s right-hand rule 163

 Fleming’s left-hand rule 159

 background radiation 206

 erect 29

 parent nuclide 206

 watt 112

 cathode ray oscilloscope (CRO) 70

 alternating current (a.c.) 113

 volt 99

 voltmeter 100

 optical centre 28

 optical fibre 25

 total internal reflection 21

 isotope 211

 echo 65

 earth wire 113

 ampere 99

 ammeter 99

 dispersion 19
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2

1.

2.

3.

•

• 1

• 2

*

• 3

* 

M

•

•

•

1. 65 kg (1 )

W = mg = 65 × 10 = 650 N (1A)

2. 1200 kg 800 N

20 m s–1

(3 )

 = 

F × s = 
1
2

mv2 (1M)

800 s = 
1
2

 × 1200 × 202 (1M)

s = 300 m (1A)

P Q

O P

F
Q

I


